TINTIN'T D11 NI'ANT a1*Jn o)

Héap 107
p ICNNNP

Hppa ppbipy

NXY aNWTHN NX D'RD

'
DTN X = 2T = NUA7 TN

nIN X ¢4



D"I229X D102 DIPIN

.0MM2a 9 nifinn “niNywwe 091 1

nr'inn 1oon O"nrnsan 150n

§/< 3

4
6

X : 4 Ii-ﬁ

0mn2a 100 -n nina? WoRe Nk 2man nrinn 1eon nn

Lvav 19on k) mwnl n7200 NN PnYn LK

f N 51 N T 0'WNT 0NN9A NN 3

A

MKW 0TIMDA A 70M1M9a 66 -1 NIAT TWORY AN 2man nrinn 1oon an 1

—
-

-

i

e

s

-

o

1 | i ‘ l' ‘ 01N92 7w niwwn naom naon
= Aviax) qon TR INoal
oNo9a 1+ 32 pwnT nang 2 naw naony

.0nnea 1+ 3.5 pwnT nang 5 naw naony

700 7PTIY INY ORN

ning 17 naw nain N7 0'WINT 0N9a Nnd

O071M93an NiaoT 0314

AnRME N2 722 INNWN 1NDaAN NN VX AN M

A

-1 |'."?f‘l_'l'l'rfl N N7 O'WINTR 07N9AN 1901 AR T LT

drnawwny 3 -2 ﬂ'?[‘l_'l'l'l] NoT N7 O'WINTA 0NIN9AN 190N NN A
JNf0n P onn 'n

Y

JIYAXK S nnX T

20" T AT NIYAXYX NND X
2001 20 20T 12 20077 3 Y DT DIAITA NIYAXN nD A
2n1waxx 300 201 nivayx 80 TN wr 0T NNDY7 A

20'T?' m 7w 0T NIAITA NIYAXX Nnd) .7

3

2



YN NIDIYO ITO

T 00080 VAWAN 1IN
N NAran aan ah bunwn

Toapnn nn nond nhava MawnD MENDHRT NTPMND DN A

60-70:10=

(17+3)x6=

200:(10-8):2=

(24— 6x2):3=

6x(4x5-50:5)—16=

8—-8:8+2-2:2=

(14+20:2):(2+36:6)=

(26—16)%(19—3x5) =

(15=15:3)x(6—-2x2)=

Ix(B+4):6=

3 4 20 | S0 | 44 40 6 33 | 120

47x 2§ 3nna Hw aknng e 1w aRdinaw ana g wen L3

47 x 100:4 47 X 20x 5 N

47 % 10« 10 x 5 =7 47 X 20+ 5 2



DFINNI DY

T 3 2 4 | 3
24 —— 4 5 — 7 3 — 9
% (.5 1.025 1.25 (.8 0.26
0.8 8% 0.6 0.45 % 1.3
IR 90nY WAN -+
14 _ 13 _
5 4 —
ovaEm AR mSwE .
B v e 9180 "'*ZE?.‘L-"'.:"I‘.'.'.*E | i a ik
315% K
9
25 .
0.7 ;
123% T
2
3-
3 |
2.08 1
l%
E 1
3
1000 _
S anw 130% .7

13 .7 13.a 00132 0130 .~




